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Section A — Reading (20 marks)

Al. Read the passage carefully and answer the following questions. (5)

Gulliver, a sailor, was once caught by a giant. The giant looked at him with
curiosity. He took him to his house and placed him on the dining table which was
thirty feet high from the floor. The giant’s wife crumbled some bread and placed
it before Gulliver. Then entered the giant’s one year old son in the arms of a lady.
On seeing Gulliver, the child grabbed him from the table and put his head into his
mouth. Gulliver shouted so loudly that the baby dropped him. He would have

broken his head if the mother had not put her apron under him.

a) Complete the following sentence.

The giant’s wife

before Gulliver.
b) Where did the giant place the Gulliver?

¢) What did the child do Gulliver?

d) Write the similar word

A piece of clothing worn over the front of the body

e) Write the antonym of the following word.
Picked




A2. Read the passage carefully and answer the following questions. (5)

Once upon a time, not so very long ago, there was a small boy called Hari.
Although he wasn’t very big, he was strong, and he loved to tease all the boys
and girls who went to school with him. What he loved to do most was to pinch.
He could make a big bruise appear in half a second. Another trick he played was
pricking people with a pin. So you can guess how all the children hated him.
They tried pinching him back, but that was not good, because he could always

pinch harder.

Answer the following questions.

a) The another trick that Hari played was

b) He loved to tease with him.

c) Write the antonym of the word appear

(by using un / dis / im)
d) Injury by blow to body (Give the similar word from the passage)
e) Why did all the children hate Hari? Because, ( put a tick mark)

* He would not talk to anyone () *He always Pinched them ( )

A3. Read the passage carefully and answer the following questions.

There was a child whose name was Roshan Lal. He lived in Panipat. His
father’s name was Mohan Lal who died when his son was very young. Roshan
left his primary education due to his poor economic condition. After that, he
decided to join a military school where no fees were charged. On the strength of
his hard work, he became an officer in the army.

Due to having lots of difficulties in his life, he determined that no child
would be deprived of his primary education. When he was 56 years old, he met a
boy whose name was Rishabh. That boy was very skilled in running and jumping,
but he had no parents. Roshan adopted that boy and made him an officer in the

army.
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A3.1 Answer the following questions. (4)
a) Who was the father of Roshan Lal?

b) Where did Roshan Lal live?

¢) Which school did Roshan Lal join after the death of his father?

d) Who did Roshan Lal meet at the age of 56?

A3.2 Write true or False (2)
a) Rishab was very skilled in running and jumping. ( )
b) Roshan Lal adopted the boy and made him an engineer. ( )

A3.3 Fill in the blanks (2)

a) On the strength of his hard work Roshan Lal became

b) Roshan Lal left his primary education due to

A3.4 Find out from the passage (2)

a) Write the antonym of the word old

b) The word which means firm decision

Section B — Textual Questions (10 marks)
B1. Answer the following (2x4 = 8)

a) How did the king want to select their future king?

b) Why was the Sultan in a hurry?

c) Where have you seen crowds of people?
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d) Where did the polar bear live with her family?

B2. Give reasons: (1x2 = 2)

a) Gulliver could not climb the fence, because

b) The two children are nobody’s friends, because

Section C — Creative Writing (10 marks)

C1. Write a notice about a library committee. (5)
s ™
\ J
C2. Write a paragraph on importance of reading books. (5)
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Section D — Grammar (15 marks)

D1. Fill in the blanks with suitable word (10)
a) She found empty bottle, floating in water. (a/ an)
b) The woman shouted . (hardly/loudly)
¢) Nobody wanted to sit to Hari. (next/on)
d) Her hands were as cold as .(hard / ice)
e) When | met my aunt, she the plants.
(was watering / is watering)
f) The child looked up at the of stars. (cluster / choir)
g) The full form of won’t is . (would not / will not )
h) We will reach the station on time we go by the car. (but /if)
1) Yesterday my mother me a beautiful dress for my birth day.
(buy / bought)
J) Jane and John are friends. are going to visit a zoo.
(We/ They)
D2. Fill in the blanks appropriately by using “intelligent”. (3)
a) Ajay is
b) Smith is than Ajay.
c) Joeisthe of all.
D3. Rewrite the sentence by adding “less” to the word.
The children are __ (home) because they are orphans. 1)
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D4. Punctuate the sentence.

wasn’t geetha born on the 10th may 1980

Section E — Vocabulary (10 marks)

E1. Give one word of the following

a) Make public

b) Someone who talks a lot
E2. Write the words that rhyme with

a) drain

b) prawn

E3. Give the synonym of the given words

a) winner

b) elevator

E4. Write the antonyms of the given words

a) quiet

b) punish

ES5. Rearrange to make meaningful sentence

never / I/ that/ you/ were / knew /generous / so .

E6. Make meaningful sentence
excited

Section F — Spellings (10 marks)
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F1. The following words are jumbled. Rearrange the letters and make meaningful
words. (2)
a) acreutres

b) paleusre

F2. Write the correct word by using the clue. (2)
a) A fault d fe t
b) Land with no vegetation- b _r__en

F3. Encircle the words which are correctly spelt. 3)
a) exshauted exhausted exhasted
b) competetion compitition competition
¢) wonderful wanderful wonderfull

F4. Write the misspelt words correctly (3)
a) supris
b) opinin
C) genros

Section G — Handwriting (5 marks)

Rewrite the paragraph in neat hand writing:

Once upon a time in a green forest, there lived a wise fox and a kind rabbit.
They were good friends. One day the rabbit saw delicious carrots across a
flowing river. The rabbit thought to get the carrots anyway. He wanted to share
what he found with the fox, so he asked the fox for help. The fox agreed to help.
The rabbit sat on the fox’s back and they set off towards the river. When they
reached the middle of the river, the fox got an idea. Greed overcomes him, “Why
should I share the carrots? I can eat them myself!”. With a sudden jerk, the jackal
threw the rabbit off his back into the river. The rabbit managed to reach the other
side.

The rabbit sadly said to the fox, “My friend, I trusted you. You deceived
me, but remember, kindness is worth more than carrots.” Realizing his mistake,
the fox felt guilty. He apologizes to the rabbit and they both cherished their
friendship and understood that selfishness can destroy even the strongest bonds.

Moral : Kindness and trust are more valuable than any selfish desire.
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SECTION A : ( Reading- 20 marks)

Al. Read the following passage and answer the questions that follow.

On the 16™ of June 1730 we discovered land. Our captain sent a dozen men with
vessels for water, if any could be found. When we came to land we saw no river or
spring nor any inhabitants. | went on to explore. The country was barren and rocky.

| turned back to join the crew, only to see them getting into the boat and rowing for life
to get to the ship. Before | could reach them, | observed a huge creature walking after
them in the sea as fast as he could. The water of the ocean reached only till his knees!

However the monster was unable to overtake the speeding boat.

Al.1 Write the correct answer in the blanks. (1 x5 =5 marks)

1) The captain sent a dozen men with vessels for

i) In the passage, ‘I’ stands for (captain / Gulliver)

1ii) The country was and

Iv) Find a word from the passage which means ‘land with no vegetation”’ -

v) The men rushed back to the ship because a huge creature was walking




A2. Read the following passage and answer the questions that follow.

Once there was a small boy called Hari. He pinched all the children, so all the
children hated him. One day all the children went for a picnic to the seaside for a
whole day. But nobody wanted to sit next to Hari because he always pinched. So he
was angry. He went to a sandy corner near a rocky pool and sat by himself. He saw a
monster crab walking sideways out of the pool. The crab opened his pincers and

nipped his hand so hard that the little boy yelled.
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A2.1 Answer the following questions in one word. (1 x5 =5marks)

1. What was the name of the small boy?

2. Where did all the children go one day?

3. Why did all the children hate Hari?

4. Write the opposite of hate?

5. Write the plural from of ‘child’.

A3. Read the following story and answer the questions given below.

Once in a small town, there lived a man named Karim. He used to sell caps in all nearby
towns and villages. One day he decided to go to the next village to sell his caps in the
village market. As he walked a long distance, he felt tired so he decided to take a rest

under a tree for some time. Putting his basket beside him, he started napping. There



were many monkeys on the tree. One of them came down, and upon seeing the caps, he
whistled. All the other monkeys responded to his whistle. One by one, they took away

all the caps from the cap seller’s basket. Everyone wore the caps and started playing
happily.

When the cap seller woke up, he was shocked to see his basket empty. He searched for
his caps everywhere. To his surprise, he saw the monkeys up on the tree wearing them.

He tried various ways to get his caps back.. He then raised his hands in anger, shouting

at them to return the caps. The monkeys too raised their hands and started shouting.
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Finally, he got frustrated. He removed his own cap and threw it on the ground. Seeing
this, the monkeys also repeated the same. He realized that monkeys love to imitate. The

cap seller quickly collected all the caps, placed them back in his basket and went away

happily.
A3.1 Tick the correct answer and write it in the space provided. (1x4=4)

1) The cap seller decided to go the next village to

a) buy caps from the village market b) meet his friends in the village market.

c¢) sell his toys in the village market.  d) sell his caps in the village market.

2) When the cap seller woke up, he was shocked because

a) the basket was full of colourful caps. b) the basket was disappeared.

c) the basket was taken by monkeys. d) there was no cap in the basket.

3) The monkeys returned the caps. It happened because of

a) request b) excitement C) imitation d) frustration

4) The cap seller lived in a

a) village b) small town C) city d) metro city



A3.2 Complete the following sentences. (1x3=3)

a) There were many

b) The cap seller took a nap because he

c) After getting frustrated, the cap seller removed his own cap and
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A3.3 Find from the passage above: (1x3=3)

a) Write the name of the cap seller -

b) A word that means ‘a short sleep especially during the day’ -

c) Complete the word for ‘to copy somebody’- it t

SECTION B (Textual Questions- 10 Marks)

B1. Fill in the blanks correctly. (1 x 2= 2 marks)
1) was the name of a polar bear.
i) People walk upon their in Topsy-turvy land.

B2. Answer the following. (2 x 4= 8 marks)

1. Why did the people of Kangleipak love their Ningthou and Leima?




2. How many brothers did the Barber have? Write the name of any two brothers.

3. What activity was going on in the classroom? Who was silent?
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4. Did the boy share his toffee and tricycle with others? What are the things the
girl doesn’t want to share?

SECTION C (Creative Writing- 10 Marks)

C1. Using the key words in the bracket, write a detailed character sketch of
Malu Bhalu. ( 5 marks)
(brave strong eager tolearn more impatient female clever

young fearless  bold)
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C2. Look at the picture and write a paragraph about it. ( 5 marks)




Page-7
SECTION D (Grammar — 15 Marks)

D1. Do as directed:

D1.1 Aman was doing his homework when

a. his mother asked him for a help. ( 1 mark)
b. his mother has asked him for a help.
c. his mother was asking him for a help.

D1.2 Rita invited all the children . (1 mark)

(Rewrite using suitable words (him//he/them/she) instead of underlined words.)

D1.3 The sang beautifully. (group/choir) (1 mark)
D1.4 The hunter saw the of pigeons. (flock/litter) (1 mark)
D1.5 Write the past tense of ‘obey’ - (1 mark)

D1.6 Fill in the blanks with suitable joining words like so, but, and
( 2 marks)

Raju Ravi ran fast, they missed the bus.

D1.7 was one by and all loved she (1 mark)



(Arrange the words to make a meaningful sentence)

D1.8 The boy was as as a bamboo. (tall/ taller/ tallest)
(1 mark)

D1.9 Hina’s frock is pretty.
Rita’s frock is prettier than Hina’s frock.
Mona’s frock is the of them all.

(Fill in the blanks with suitable word)
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D1.10 werent you born on 25" august 1996 (1 mark)
(Punctuate the sentence and write it again)
D1.11 Read the given sentence and write the no word in the space given.
( 1 mark)
She was nowhere around.
D1.12They celebrated Christmas . (merry) (1 mark)
( Add —ly to the word and write in the blank.)
D1.13 Write a word ending with -less. (1 mark)
D1.14 Rohit is popular player but Mohan is unpopular player.
( 1 mark)

Choose the correct from the bracket and write in the blanks an/a/ the)

SECTION E (Vocabulary — 10 Mark)




E1 Match the following words with their meanings. (1x 4 = 4 Marks)

exhausted upside down

topsy-turvy tired and fed up

crumbled underground passage for people to cross
subway broken into pieces
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E2. Add the correct prefix to the words given in the bracket.
[ im, re, dis, un ] (1x 2= 2 marks)

1. Jack the gifts. (wrapped)

2. We should not drink water. (pure)
E3. Write the word which rhymes with the word given. (1x1=1 mark)

Train -
E4. Write the opposite of the word given: (1x 1= 1 mark)
below

E5. Give the full form of : shan’t - (1x1=1 mark)
E6. Renu lends her book to her partner. (1x1=1 mark)

It indicates that she is

(' studious/generous)

SECTION F (Spellings — 10 Marks)




F1. Rewrite the following sentences with the opposites of the underlined words:

(1x2=2)
a) Everything around me looked different.
b) He always comes late.
Page-10
F2. Rearrange the following to make proper words. (1x3=3)
) ape par i) Ipmortnat
i) psosb i le
F3. Fill in the blanks with missing letters. (1x2=2)
a) You are acting hast___ly in this matter.
b) The farmer’s wife cr _ mbled some bread.
F4. Circle the correct word. (1x3=3)
inhabitant unhabitant inhebitant inhabitent
horred horrid horrud horride
elevetors elevaters elevators elivators

Section G (Handwriting — 5 Marks)

A stag was drinking water at a stream. He saw his reflection in the clear water. He
felt very proud of his big horns. He said to himself, “How beautiful my horns are!” but
then he looked at his thin legs. He felt ashamed that his legs were so thin and ugly. He
said to himself, “How ugly my legs are!”
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Section A — Reading (20 marks)

A.1Read the passage and answer the following questions. 1X10=10

Probably the most important of all man’s invention after the invention of
language itself was the invention of writing. Writing makes it possible for
people to keep in touch with one another even if they are far away from one
another, and for knowledge to be handed down the years. Libraries full of books
are our great storehouses of knowledge. Without books, men’s knowledge is
limited to such facts as they are able to keep their memories. Early societies had
their own systems of writing, this was used in China, Persia, Mexico and Peru.
Knots of coloured cords were made on sticks. When a knot was made, near the
stick, this was the sign that what was being said was especially important.
While reading a letter in a knot writing a person had to take into account how
thick the cord was and what sort of a knot was made. A black cord was the sign
of death; a white cord was used for peace, a red cord for war, a yellow cord for
gold and a green cord for grain.

A.1.1Choose the correct answer and complete the sentences.

1. was the most important invention after the invention of
language.

a) Reading b) Writing

c) Listening d) Speaking

2. of books are our great storehouses.

a) Courts b) Laboratories

c) Libraries d) Offices

3. Is the best way for knowledge to be handed down the years.
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a) Reading b) Writing

c) Listening d) Speaking

4) Without , men’s knowledge is limited as their memories.
a) television b) phones

c) books d) movies

5) The red knot symbolizes for

a) peace b) war
c) gold d) grain
6) The white knot symbolizes for

a) peace b) war
¢) gold d) grain
7) The knots of coloured cords were made on
a) paper b) sticks
c) shirts d) sword

A.1.2 Complete the following sentence.
While reading a letter in knot writing it was important for a person to take into

account

A.1.3.Write the synonym of: (from the paragraph)
a) String :

A.1.4.Write the antonym of: (from the paragraph)
a) Late:
A.2 Read the passage and answer the following questions. 1X5=5

In the city of Cashgar, lived a barber who was a great talker. Once the Sultan
called the Barber to shave his head. The barber started talking non-stop instead
of shaving him. The Sultan got angry. “When are you going to stop talking and

begin to-do your work?”The Barber replied, “You do me an injury by calling
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me a chatterer. For, everyone says | am very quiet. | have six brothers whom
you might call chatterers.

A.2.1 Answer the following questions.

1. How many brothers did the Barber have?

2. Where did the Barber live?

3. Why did the Sultan call the Barber?

A.2.2 Give one word for the following. (from the paragraph)

1. A person who talks a lot. -

2. A person who cuts our hair. -

A.3 Read the passage and answer the following questions. 1X5=5

On the 16™ of June 1730 we discovered land. Our captain sent a dozen men with
vessels for water, if any could be found. When we came to land we saw no river
or spring nor any inhabitants. | went on to explore. The country was barren and
rocky. | turned back to join the crew, only to see them getting into the boat and
rowing for life to get to the ship.

A.3.1. Fill in the blanks.
a) The land was discovered on of June 1730.

b) The captain sent the men to get some

¢) The country was barren and

d) The other word for the word “occupant” in the paragraph is

e) The word for the phrase ‘a land with no vegetation™ in this paragraph is

Section B- Textual questions (10 marks)

B.1 Answer the following questions. 1X2=2

1. Who was the quiet one in the poem “Class Discussion™?
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2. Name the place in Manipur where the Ningthou and Leima ruled?

B.2 Answer the following questions. 2X4=8

1. How did the king want to select their future king?

2. In the poem Topsy-turvy Land, if buses travel on the sea then where do the
boats travel? How should it rightly be?

3. Why are the two children nobody’s friend?

4. Why did the men rush back to the ship?

Section — C —Creative Writing (10 marks)

C.1 Write a notice informing students about a “Drawing Competition’’ to be
held on 5th April 2024. 1X5=5
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C.2 Complete the following conversation. 1X5=5
Mother : What are you doing ?
Radha :

Mother : Can you help me in the kitchen after completing your homework?
Radha:

Mother :Thankyou. Which subject’s homework are you doing?
Radha :

Mother: Can | help you in completing your English homework?
Radha :

Mother : Why don’t you want my help?
Radha :

Mother: It’s good that you can do your homework on your own.

Section D- Grammar (15 marks)

D.1.Choose the correct answer. 1X4=4
1. We should give her beautiful frock as birthday gift. (a/ an)

2. He is as busy as as a bee.( sweet / busy)

3.1 late to school yesterday.( come / came )

4. We just crossed a of trees. (cluster/ clump)

D.2 .Fill in the blanks. 1X5=5
1. It is common to have five fingers in one hand but to have

six fingers in one hand. (uncommon / discommon)
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2. Raja brought mangoes from the market. mother praised him.
(His / Her)

3. You may take a bus go by car. (so/or)

4. The house he lives is beautiful. (while / where)

5. The full form of won’t is . (will not / would not)

D.3 Complete the following using the word “heavy”. 1X2=2
1. The bag full of wheat is than the bag full of cotton.

2. The bag full of iron is the of all.

D.4 Punctuate the sentence and rewrite. 1X1=1

1. can i have peanuts cookies and juice for breakfast

D.5 Complete the sentence. 1X1=1

1. I was walking on the road when

D.6 Rearrange the words to make meaningful sentences. 1X1=1

1. children / excited / were /all / most/the .

D.7 Write a word ending in — ly which denote how something is done. 1 X 1 =1
1.

Section — E- Vocabulary (10 marks

E.1 Give one word for the following. 1X5=5

1.talking together in a group on a single topic -

2. to look at something very carefully-

3. what a person feels about a person ,thing or subject —

4. an underground passage for people to cross -
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5. long hair on the neck of some animals -

E.2 Write the opposites of the following using un-,im-,dis. 1X3=3
1.pleasure -
2. shaved -
3. perfect -
E.3.Write two words ending with — less. 1X2=2
1.
2.
Section —F — Spelling (10 marks
F.1.Circle the correct spelling from the following options. 1X5=5
1. inhabitants inhbaitanats inhabitnants
2. excitement excitement excitiment
3. hoarse hoarsa horasse
4. pincers pinsers pinzers
5. lauguage language languege
F.2.Unjumble the jumbled letters. 1X5=5

l.ex cm ial -

2.br 1 ues -

3.g rpmyu -

4.5 U yb w a-

5b ar yel-
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Section- G — Handwriting (5 marks)

G.1 Write the following passage in a neat handwriting. 1X5=5
Moral values are the good values that are taught to us by our parents and
teachers. They govern our behaviour so they should be instilled in us right from
our young age.They help us to distinguish between what’s right and wrong,
good or bad for us and also for the society. Moral values such as integrity,
determination, and loyalty, honesty, giving respect to others, being kind,
truthful and sincere, sticking to your moral and ethical principles and values and

being considerate should be inherited by every individual living in the society.
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SECTION A
OBSERVATION AND REPORTING - (30 Marks )

1. Choose the correct answer and fill in the blanks. (1x5=5)

a) The place where petroleum is cleaned and processed is called

. (refinery / mill )
b) means jungle in Kuduk language. ( Torang / Lekha )
c¢) Gregor Mendel conducted experiments on plants.
(bajra/pea)
d) The movement of the paper snake shows that hot air flows

upwards. ( clockwise / anti-clockwise )

e) is called a cold desert. ( Mumbai / Leh)

2. Observe the picture and answer the following. (2x5=10)
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1) What is the boat called ?

i1) Where 1is it found ?

1) What is this dance called ?

i1) In which state is this dance famous ?

alamy

1) Name the natural calamity shown in the picture?

11) When did this calamity occur in Bhuj ? ( Mention the date and year)
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d)
1) Name the things shown in the picture.

11) What are they used for ?

1) What is the man in the picture spraying ?

i1) Why is he doing so ?

3. Match the following (1x5=5)

&,
spinning thread
@ for fishing
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making sugar

hearing heartbeat

crushing
4. Fill in the blanks (1x5=5)

a) Changthang is at a height of almost metres.

b) The people of Sinduri called the people of Khedi as

c) Sweet rotis made from jaggery and gram are called

d) is the sarpanch of Jasma‘s village.

e) The actual name of Bacchu Khan is

5. What is Undhiya? How is it prepared ? (5x1=95)
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SECTION B
IDENTIFICATION AND CLASSIFICATION - ( 25 MARKS)
6. Answer in one word (1x5=5)

a) An agent for sugarcane factories -

b) A person who trains the players in games -

c¢) A project which tells extraordinary tales of ordinary girls, who have changed

their lives after going to school -

d) The person under whose’s leadership the constitution of India was prepared -

e) The tent of changpas -

7. Circle the odd one (1x5=5)
a) Cotton Wheat  Maize  Bajra

b) Petrol Diesel Kerosene Refinery

c) Flood Famine Dam Drought

d) Basket ball Kabbadi  Volley ball  Cricket

e) Cleaning Teaching Sweeping Rag-picking

8. Answer the following questions (2x5=10)

a) Suggest some ways to save oil.
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b) How does the air from our mouth help in cleaning spectacles ?

c) What do you understand by ‘gender bias’ ?

d) What is similar between Saroja and Suvasini ? What is different ?

e) What is “Right to Forest Act 2007 ?
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9. Write a short note on Pashmina shawl . (75 — 100 words)

(5x1=5)

SECTION C
DISCOVERY OF FACTS - (25 MARKS)

10. Give two examples of each

a) Things obtained from petroleum

b

b) Traits that we acquire from our parents

b

c¢) Soothing sounds in Khedi village

b

d) Musical instruments played by blowing air into them

b

e) Qualities that make a team strong

b

f) Festivals related to farming.

b
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11. State whether True or False. (1x4=4)

a) Mami wants Dhanu to study and become somebody in life. ( )
b) If there is no rain, crops can fail and there can be drought. ( )
c¢) Twins who look different are called identical twins. ( )

d) A barrier build across a river is called a dam. ( )

12. Write the full form of the following (2)
CNG

NBA

13. Write what we should do in case of an earthquake. (2)
14. Give Reasons (2%x3=6)

a) Suryamani says, “ If the forests are not there, we too will not remain.”

b) Earthworms are called soil’s best friends.
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c) We should use petrol and diesel judiciously.

15. Mark the following states on the map of India

a) The state in which Manali is located

b) The state in which Sabarmati Ashram is located.

c¢) The state where Suryamani worked for adivasis

d) The state in which Mumbai is located

e) The state in which Suvasini stays
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SECTION - A

OBSERVATION AND REPORTING (30 Marks)

1. Choose the correct answer and fill in the blanks. (1X5=5)
a. are sweet made from jaggery and gram. (jalebi/
puranpoli)
b. Polio is a disease caused by . (virus/ bacteria)
c. The air, we breathe out contains . (moisture/dust)

d. To clean oil found deep down in the earth, it is sent to

(refinery/ depot)
e. ‘Jule’ means in the language of Changpas. (thank you/
welcome)
2. Observe the picture and answer the following questions. (2X5=10)
a.
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Name the sport that is being played by girls in the picture.

How many players are there in a team of this game?

>

It is used by whom?

For what purpose is it used?

n ‘l','.uh' "t:fu ."

i\

Which natural calamity is shown in the picture?

Which states in India are often affected by this calamity?
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What is shown in the picture?

ii.  Which tribe make this tent?

e.
I.  What is shown in the picture?
ii.  How long does it take to make one of these?

3. Circle the odd one out. (1X5=5)
a. kerosene diesel LPG CNG
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b. Ladakh Manali Delhi Srinagar

c. war flood cyclone drought
d. cricket chess football basketball
e. maize rice wheat sugarcane
4. Match the following. (1X5=5)
a. forest (i) fought against untouchability
b. Jhoom farming (if) Torang
c. Gandhi Ji (iif) Mizoram
d. Gregor Mendel (iv) scarcity of food and water
e. famine (v) Father of Genetics
5. Write five safety measures to be taken during Earthquake. (5)
SECTION B

IDENTIFYING GROUP AND CLASSIFICATION (25 MARKY)
6. Answer the following questions in one word. (1X5=5)

a. Head of the village panchayat-

b. The main crop of Mizoram-
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c. A vaccination programme to eradicate polio from India-

d. A special type of window which comes out of the wall-

e. A project to identify the extraordinary stories of ordinary girls, who have

changed their lives by going to school-

7. Give examples. (1X5=5)

a. Two things made of bamboo

b. Two vehicle that do not need any fuel to run

c. Two festivals related to farming

d. Two indoor games

e. Two tribes of Jammu and Kashmir

8. Give Reason. (2X3=6)

a. CNG is superior fuel to petrol.

b. Earthworms are called 'soil's best friend.
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c. We see drops of water on your bathroom mirrors when you take a hot

shower in winter.

9. Write the two differences in the life of Bakarwal people and the life of the
Changpas. (2)

Bakarwals Changpas
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10. Write the two differences between Saroja and Suvasisni. (2)
Saroja Suvasini
11. Write a short note on Pashmina shawl. (5)
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SECTIONC
DISCOVERY OF FACTS (25 marks)
12. Choose the correct answer and fill in the blanks. (1X5=5)

a. Mukadam was

(i) a farmer (iif) an agent who lends money
(i) a sugarcane factory owner (iv) a banker

b. Identical twins are

(i) Children who look alike and are from same mother.
(if) Children that are born from different mothers
(iii) All siblings

(iv) None of these

c. Kudukis a
(i) Name of the forest (iii) Person’s name
(i) Place (iv) language

d. In olden times good seeds were stored in dried.
(i) brinjal (iii) bitter gourd

(i) gourd (iv) cucumber
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e. Who was the coach of the NBA team?

(i) Bacchu Khan (ii1) Mustafa Khan ¢
(if) Noor Khan (iv) None of these
13. Answer the following questions. (2X5=10)

a. List two benefits of playing games.

b. Write any two difficulties faced by the people doing cleaning job?

c. Suggest two ways to save 0il?

d. How cutting down the trees effect the environment?

e. Name any two characters/ traits that can be inherited?
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14. Look at the following bar charts and answer the questions that follows.

Change in fuel use over twenty years

T o

134
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§ ool 4 :
2 80 = ;
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100
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In 1976 which fuel was used minimum?

75 2
2
:;;.:
= O
.
g 18 =
fgm:
: -
2
Year 1996

(1X5=5)

v Eletricity

In 1996 which fuel was used maximum?

In 1976, coal was used in how many houses?

d. Consumption of which fuels has decreased from 1976 to 1996?

e. Consumption of which fuels has increased from 1976 to 19967

15. Name the states/union territory related to the following and locate the

states on the outline political map of India.

a. Cold desert

b. Gandhiji’s Sabarmati Ashram
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c. Nagpada Basketball Association (NBA)
d. Cheraw dance
e. Khedi Village

—

i Vo V
INDIA
OUTLINE MAP WITH STATES
& UNION TERRITORIES

(7

Map not to Scale
—————
Copyright © 2020 www.mapsofindia.com
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OBSERVATION AND REPORTING (30 MARKYS)

Q 1) Choose the correct answer and fill in the blanks. (5x1=5)
I. is used for cooking in homes. (CNG/LPG)

i, Is a renewable source of energy. (Solar / Petrol )

Ii. Is also known as a 'cold desert’. ( Changthang / Ladakh )

iv. The air blown from our mouth is in winters. (warm / cool)

v. Farmers in earlier times kept leaves near seeds to protect them from

insects. (Banyan / Neem)

Q 2) Observe the picture and answer the following. (5x2=10)

(i) (a) Changpa people live in such tents. \
What do they call their tents? )

N

(b) Why there is an opening in the tent?
Ans.
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Ii. a8) Name the following sportswoman.

(b) Write the name of the sport with which she is associated.

Iv. This is a stethoscope.

(@) Itis used by

(b) For what purpose is it used?

v. (@) Name the following agriculture tool.

(b)  Write the purpose for which it is used.
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Q 3) Match the following 5x1=5)
Column A Column B

. Upla a. Mahanadi river

Il Gregor mendel b. Bhagirathi River

ii.  Hirakund dam c. Beautiful carving on wood

Iv.  Khatamband d. Experiments with peas

V. Tehri e. cow dung cake

Q 4) Write 'T' for True and 'F' for False statements. (5x1=5)

I. Using public transport can reduce the level of pollution extent. ( )

il People of Sinduri were very friendly with Jatrya's family. ()

iii.  Our heart beats slowly after we run, skip or exercise. ()

Iv.  In case of an earthquake we should go to an open area. ()

V. Polio can be transferred from parents to their children. ()

Q 5) What is “ Undhiya’? How is it prepared? (5)
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IDENTIFICATION AND CLASSIFICATION (25 MARKYS)
Q 6) Give any two examples of each. (5x2=10)

I.  The vehicles which run using fuel —

i Natural disasters —

li.  Festivals related to farming —

Iv.  The musical instruments which are played by blowing air through them —

V. Team Sports —

Q 7) Answer the following. (4x1=4)

I. Where is Adalaj step well located?

1. Which calamity occurred on 26th January, 2001 ?

iii. To which community did Suryamani belong?
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Iv. Name any two products obtained from petroleum.

Q 8) Give reasons: (3x2=06)

. In Mizoram carrying rice crop home takes many weeks.

il Roof is the most important part of the houses of Tashi.

ilii.  The earthworms are called 'soil's best friend'.

Q 9) Look at the pictures that show the journey of bajra seeds from field to plate . Few

steps are written below, rewrite them in the correct sequence, from 1 to 5. (5 x 1=5)
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a. Dough is made from bajra atta by putting some water in it.

b. The bajra crop is cut from the field.

(
(
c. Bajra seeds are separated from the cobs using mortar and pestle.  (
d. Bajra roti is made using hands and baked on tawa. (

(

~— ~— ~—

e. Grinding of bajra grains is done in the grinder.

o &~ WD oE

DISCOVERY OF FACTS (25 MARKYS)
Q 10) Look at the following bar charts and answer the questions that follows. (1 x 4 =4)
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Change in fuel use over twenty years

:
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o Coal

|

How many houses out of 100 use it

Year 1976

a.Which fuel was used the least in 1976?

b. In 1996, use of LPG and kerosene was

d. What percentage of houses used coal in 1976?

How many houses out of 100 use it

100
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LPG and Kerosene

@«

ple and Wood

Coal

Year 1996

w Eletricity

%

(more / less) than in 1976.
c. In 1996, out of 100, how many houses used Uple and Wood?

Q 11) Forests give us many products. Circle any 6 products which are obtained from

forests. (6x% =3)
Timber Coins Milk Plastic Paper
Bamboo Wool Herbs Cotton Wax
Spices Polythene Medicine Rubber Electricity
Q 12) Draw ‘Shikara’ . (3)
Q[13) Answer the following questions in two or three sentences. (5x2=10)
I. How can farming be done without rain?
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il. What is Pulse Polio?

ii.  What is team spirit?

Iv.  How is life in the village different from that of big cities?

V. What is ‘Torang’?

Q 14) Locate the following states on the map of India. (5 x1=5)

a) Mizoram b) Maharashtra

¢) Jharkhand

d) Gujarat e) Ladakh
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4. Asel & &R & A H deend Yl Ueg ford|

° ;ﬂ%ﬂ?g: -------------------- ° Iﬁﬁf%EF=
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RSCEC]

« ge¥ ow # faf@u (5)

JOTH HT HRAT TERA H 1 Aged &l Tg 9 § T-408T
AT 3O Siat & Gfd AT 1 Iclleh &1 AA-Adr & 3faAReFd
AT & 8l geyrser, 3fafdal, are-adh A A9l WRT & 3[R
YOTH T AlAG-L §| aEJc: JOH Sfasl &0 &7 7 3mefieie
3ol 39Tl T ASTHT 1 YOTH & T 7 He] I AT § T
‘FeHSTAT g ATAT-TAAT &I S AT Far-9umd & JHeol Wl g, 38!
3MY-facar-aer 3N ool Tt $H geeh g B
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v 1. Reafaf@a i F gt AT @ weat F 3w [_f@w |

g H AT UT| UGSt & WS H IS Fieh @ AT &F ay &
9T &R & ST Aea 37| 98 AT 3@ §AF, 38 TET § Foldl &l &
WA 839 9T SATdT g1 eled &al FT Ucall Jels H 3ThT Heg Hlal ol e
H @ {EA & GET A HleARS gar F BHa § T AT IR TGT I3
1A YE & ST AT

foereT werssr & 37130 s d 3T & Wr AT fh 3§ el deled I
3TaTet Galrs &l 3H SUR-3R 3w, HiS o Rewre A faAn % $w & ¢
Tl AT fob 38 T A Telel T JHTaTeT FoArs &1l S8 SR Teh o7g), &l-cllel
Mol Teh Ay & o Al Mt o marer F QU Gy o AS| G
HeRT IT| ITHATT H el Mol TFh hiced ofdl| [T TgAHT 98t hr 313
# B9 @ar 8 |

1) foereT fohder a& &r o1 2 (1)
2) et @t forwer e s & ? (1)
3) foerer agHAe Fel BT amar ? (1)
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4) AT 37 arerr ersg for@r | (1)

S{h{ -

5) faei# erse forar -(1)

g

ye 2. Awfaf@a seamer ) geik A @ vt & 3w Qv |

AT dgd o | J| S-387 FW Ted T, A-cAT 1T o H
feFenct gt o1al| Teh Foll &I AAh T el d6ad o STodl d STarglellel o
3Gl 3YUR Tl ge 3¢ oY FA9er T 78 H Tl HegH & @l T,
ST AT S fGATET # ToA e 3T gl Y o STargellel o 3 a6t T
ST0eT =T6l Scel|

NI T FH 95 s | AT 96 IS, Tolar o SfdsT g Iam v
RE TF, FWR T e Fers| aof g v Thfer dAee FAor 3mam Iry
3N oA RGN & R g8 HAeld ot & HPpe & TA T @I ol
Y $r el Felgy oer dF IEl 3R A @ R IR TS| §H Teh
o fR@e a% & guds A WS g TSIfeT & IRE g9 a2
g TN o ¥ d Wl AR °Gs X @ Ul ARE Hiolg g9l e &l
IS 9T g9 39 gad ... HEEYT ¥ i IW|

1) fraes AT & Yol dga oIam? (1)

(3N
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4) §AT Y arer g for@r | (1)

STl -
5) gdel dcell | (1)

\J

Iy -

el 3. Arafaf@a ufed acares & yeat A @ v weat & 3
fafaw)

RR I TIET Wl & U A Al Fr FETHhdr giar g, o
GifSeer MeTeT, TaT=o aTdaRoT U9 <Orard| alsar, AT e, oRer, Jemae
dAT T 3MME 397 PR & I &1 388 MR & Tl 3791 ghd &
I §l Fd F FaE oo g gl A F WR e FeAdr §, Thid
3Tl § 3R 3eeT Y 81T Bl SHY AT H FIA Hlel dHr AfFd Fedr gl
SAH el W G 9Tl ¢l TWRT-9-r 6 gofH 8 Sfiar gl W7 9
sTel 3T 3R A TITYT TET gl &H 379 Al Pl T g T X gl
# AT ga &1 3 YhR URA & §AR Slided H Agcaqul ¥ &

Jds fdcared # INmEeiRuege @@ S § drfe o uh
TS Ud TOEY ANRS § Fh| Wel o dhdd 398 UG g 3Ug
faezrdf & fasra & v off S0 &1 3mohel fag@meral & 8 Wel @t sgd
Hged f&ar Srar g1 facaredl 7 Woldhe & T 3ferer ©er giar &1 facardt
als, Pedid, SEhedid, fhdhe, fag e TRe-RE & W Weld g1 Wail
q faeafdat & 379, 3cdTg, ¥ qUT IEIAHA S #IGeA SIfd glell &

1R &I TaTY W@ o T fohad Sl &7 3MaeTehar gidar & 2(1)

2) SUTATH & Hisd-hld ¥ 3dH YR &d & ? (1)
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3) Well & Tzt i & saen JEya & § ? (1)

4)faererdt 7 Aemwe 3R Worwpe FAT @R S § 2 (1)
5) W& faFeq gaAwT AEl FT e qensi - (2)
(@) TTH A WR qAT & |

i) g&d i) efr#AT

HIGEIE iv) Srerm
(@)IIH | WA T YdIg oof il g |

EES i) Shraerdcat

i) @efrait iv) orelY

6) aTFT YehT Hel (V) AT Irerd ( X) HT AT semat | (1)

AH A A W G A &1 Trar-diam degerd 8l rer g1( )
7) faee ereg forat | (1)

s X
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8) ereg &1 Y @ | (2)

UISAYEdh 9T IMUTRT woat ( 10 37)
el 4. Arafai@d vear & 39 foay |
1) 9= of 919 & YRAR & Hgl @r?(1)

2) ‘B A gANY SIE HiAdr & AT & de i Far @iidad d2(2)

3) el o ol AT ST T F fIT TS FF FA7T a1T FHel AT 2(2)

gesT 5. Arafai@d vear & 39 foay |
1) @ T AT F Fpr F AT AT F FA7 F=AT AT ?
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2) 9= @ H F1 @l died & ? (2)

3) STATEYelel sl ALY deh hl HHY LT FAT BISeAT T3 ? (2)

TATcHS @ (10 37F)

Yo 6. (F) A fod Rl oft v Rwr W 75 & 100 el 7 3re7edq
faf@w |

AR I AT IR[

39T IS BIET AT T JTEIR AT
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(@) i o el off v v @ 75 & 100 ersal & = fAf@w |
feamelr &1 AER
ar (5)

Tadadr feaa
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gesT 7.(F) A R v eeal & @y 3Ra RAwor @t | (1)
STRer (&Y / smd)
(@) I @ ag & ¥ s @y | (1)

39 H{FEs o IR oS8 G 3Tt |
(UCUC / WerEe)

@) AT Rw v areat F @ FAor easg s @@t | (2)

(i) T T AR el & ¢ |

(i) IceT=l & g% dT Idell Al o & I@T AT |
() AT o FETaRt F AT A g =Y (2)

(i) 3TMIME TG = —mmmmmmmmmmm oo oo

(i) 3@ T -

(3) @ RE 7w art § w@ gda# o f@a 1(2)

(i) Shorel TS o TSR I Il I FeATRT gl hol W
X 37T | (a8, 34, dH)
(ii) grFe IR & ¢ faera & SATeAT ATET |
(39, 39, d%)
(T) @l T A FE g for@t 1(2)
(i) AT polalel T & | (R, 4, &)
(ii) Fr forare g T ¢ | (#H, F, F)
(T) 3CTEIOT & (AR Asq FATST | (2)
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d¢ + TheAd = Fefhead
(i) 9g + a8 =

(i) §¢ + greT =

(1) s RE 1T arFaY &1 FIT GgAIAw | (2)
(FAHATTHRIS | Hddrel | HfasTehre)
(i)repr &1 AT arael $r AfeAT a1 W & |

(i) STaTgLelTel §6d off 3§ o |

(3T) Tt dgar (1)
TS -

reg AT (10 3(%)

gesT 8. (%) e o aramer & o e eeg @y 1(2)

(i)oTr =IfeFd 3eTolleT 8 38 AT Fed & -

(i) 373 & ST Pl FIAT $gd & -

(@) #T R 71w oreg & & ggard) aeg foa@r 1(2)

3THATT -

() A Rw T sl F ‘X ITHI AIAHC AT Asg TATIH | (2)

(i) e -

(ifofaTeT -

() e e for@y 1(2)

(i) 3T x
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(iiypdle  x

(3) A T v eer &1 37T @@y 1(2)

(i) STFABTS- =-mmmmrrmmmmmmnmmneees
(10 12 . I —
gt (10 37)
nRA 9.(F) FAFafaf@d a qeu FU | 2)

(i1 T s & e g9 am |

(i) Af3 ST & a% g5 «fer |

(@) A foE eeal & IR FT FA IGAFT YGY Asq T3 1(2)

(i) @

(i) SmeraTHE -

() T §T &N fa@d Aeal 1 QO HA 1(3)

O o @l
(ii) & T e E2)
(iii) 31 A T e )
() AT Rw ereel # § ewr sl W AMaT T3 | (3)
(i) eeiaT enforar aferar
(ii) ST TATHTAT GITHAT
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(iii) gferearer EEIGEIC] gferedrel

gold (5 37)
geaT 10. R fAW I7ed F GaX AW F Qwy faay | (5)

AR Sgd FeX & &1 TE AN 2T 1 TS gel o g1 saAfew 39
qfeIal &7 ST ded gl AR a7 R 37 3R AR giar g1 T&r FRoT ¢ ok
Ig AT H AT AGT 38 Tohdl gl AR UIT: ST H |l gl AR Fr
M o&r gt B

58 AT W TF FeX Fedl gl g1 AR & 7@ T8 3dhvh gid ¢
SHS U@ W MY Gl S AT g g1 asT F H STeell B SR Tg
fORhar ofaTer & 3R 39el 9@ Hhelehy 3ehveh oJcd TEJd AT ¢l Tg
HIS-ASBIS 3N 37AleT TIAT &1 J§ AT &1 Y &Il &l 85 H I§ 3o¢ AN
STeTdT &
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Atomic Energy Education Society
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DET/Class : V 3[afY / Duration : 3 Hours
fawg / Subject : Mathematics 3feHaH 3P / Maximum Marks : 80

Section A (20 Marks)
Q1. Choose the correct answer and fill in the blanks. (1x6=06)

a) Fraction for 0.07 is
7 7 7

b) The following chapati chart represents a distribution among 120 children.
Observe the chart and fill in the blanks.

Strawberry flavour

Chocobar

Vanilla

The number of children who like to eat VVanilla =

a) 60 b) 30 c) 40

¢) If Varun is moving from Chennai to Uttarakhand, he is moving

a) towards west b) towards east c) towards north
d) A cube has corners ( vertices ).
a) 12 b) 6 c) 8
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e)50x0x10x 10 =
a) 5000 b) 0 c) 500

) Each side of a cube of volume 8 cu.cm will be
a) 2cm b) 64 cm c) 2m

Q2. Do as directed. (2 x5=10)

a) Write the question which makes the given statements as the best story problem.

There are 18 benches in a class. There are two students on each bench.

Question:

b) Find the volume ('in cubic cm) of the following shape by counting the total

number of 1 cm cubes.

A)

c) Draw the shapes that can be folded into

a) acylinder b) acone (inside the given boxes)
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d) Ajay stood on the road for 1 hour and counted the number of two wheelers
passing by. He made tally marks for each one. Observe them and fill in the
blanks. (A 3 vehicles)

1) Number of Mopeds AN A AN =
2) Number of Motor Bikes LN N o PRGN \ = :

e) Find the perimeter of the given shape.

1 cm
4 cm
6 cm
2 cm
5cm .
Perimeter =
Q3. Do as directed. (4x1=4)
HIMAYATNAGAR

Street No. 10, Himayatnagar, Hyderabad - S00 029

01 “ON IS

HAMSTECH

pii]
RUYOUSY

:
il [
Lo

1) What kind of angle (Acute, Right or Obtuse) the following roads (on the map )

are making ?
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a) Hyderguda and Liberty road make angle.
b) Himayatnagar and Street No — 10 make angle.

2) If a person is going from Minerva coffee shop to Narayanaguda Flyover, he

finds Agrawala sweet house on his side. (right/ left)

3) A person going to Hyderguda from Hamstech take (right / left) turn
after Street No-9.
Section B (20 Marks)

Q4. Tick and write the correct answer in the blanks given. (1x6=6)

a) 880 10 = 88. (operation involved inthe box X / +)

b) The amount of space occupied by an object is called its

(volume / area)

¢) How many sides are there in Central Hexagon? . (5176)
d) The value of a USA dollar is than an Indian rupee. (more / less)
e) The area of the chair seat is written in . ( sg.cm / sq.m )

f) If Z represents 5 animals, the number of animals against the tally marks

AAN - . (15 17)

Q5. Do as directed. (2 x5=10)
a) What do we need to find out for the following. ( Area/ Perimeter)

1) Ravi wants to fence his field

2) He wants to sow the seeds in his field

b) You are asked to check if a 100-rupee note is real or fake. Write two things
which will tell the real one from the fake.
A)
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c) Distance from Tatanagar to Kolkata is 10 cm on the map. What is the ground

distance between these two places? ( Scale: 1 cm =25 km)

A)

d) The table shows the number of children who help their parents at home.

Help most in house work | Number of children
Going to the market 47
Washing utensils 15
Washing clothes 3
Making serving food 25
Cleaning the house 10

1) Total children who help their parents =

2) Maximum children help in this work

e) Match the solids with their deep drawings.
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(a)

(d) \

Q6. Do as directed.

(1)

(1)

()

(v)

(4x1=4)

Make a colourful design by colouring 0.23 part of the square blue, 0.1 part red,

0.05 part yellow and 0.12 part green.
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Section C (20 Marks)

Q7.Choose the correct answer and fill in the blanks. (1x4=4)
a) If the sides of a 1m cube are doubled, then its volume increases by

times.

(6 8 5)

b) The distance between ECIL and Rajiv Gandhi International Airport is 40 km
on the ground. The distance between these two places on the map is

( scale: 1cm = 5km)

(10 km 8cm 35km)

¢) A thin wire 20 cm long is formed in to a rectangle. If the length of the

rectangle is 7 cm, then the breadth will be cm.

(27 13 3)

d) Ajay drinks 12 glasses of water every day. He will drink glasses in one
week.

(5 84 19 )

Q8. Do as directed. (2x6=12)

a) The weight of a 5 rupee coin is 9 g. How many coins are there in a sack of
5 rupee coins if it weighs 2 kg 430 g?
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b) Find the sum by adding 23.11 + 3.807 + 2.50

¢) The perimeter of a square playground is 192 m. Find its area?

d) Divide and write the quotient and the remainder 876 + 12.

e) The number of runs scored by a player in 4 consecutive years is shown below.

400 +
350+
300 4+
250
200 +
150 +
100 +
S0

Runs

2001 2002 2003 2004
Year

Answer the following:
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1) How many runs did the player score in the year 2001?

2) In which year did he perform the best? Write the score also.

f) Look at this floor map of a house. Make doors and windows on the deep
drawing of this house. Circle the windows on the floor map, that you cannot show

in the deep drawing.

: . \
~* Window = Window
N \ ~
( K Door
2 Window -t Window
Q9. Solve the following. (4 x 1 =4)

Study the table and complete the following.

Item Quantity Cost (in Rs)

Soap 1 12.50
Green Gram 1 kg 80.00

Tea 250 g 27.50
Coconut Oil 1 litre 60.00

1. What is the cost of 2 Soaps ?
A)

2. What is the cost of % litre coconut oil ?

A)
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3. Cost of 250 g green gram is rupees and __ paise.
A)

4. What is the cost of % kg tea ?

A)

Section D ( 20 Marks )
Q10. Fill in the blanks. (1x4=4)
a) 407 + 100 = (write in decimal ).

b) The quotient obtained when 312 is divided by 6 is

¢) The fencing of a square garden is 20m in length. The length of one side of the

garden is metres.
d) If the volume of a marble is 2 ml, then the volume of 5 marbles = ml.
Q11. Do as directed. (2x6=12)

a) Find the area and perimeter of the figure given. (each square box side is 1 cm)

Area = Perimeter =

b) Which solid has more volume ? (a cube or a cuboid)
1) a cube whose edge is 8 cm.

2) acuboid of length 12 cm, breadth 6 cm, height 2 cm.
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¢) Find the number of cubes used to make the following figures.

cubes. cubes.
d) 836 people are watching a movie in a hall. If the hall has 44 rows, how many

people can sit in 1 row?

e) If 12 students in the class like apples,
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Apples

Oranges

Bananas

1) How many students are there in the class?

2) No. of students who like grapes is part ( % , i

: % ) of the number

of students who like oranges.

f) The distance between two places is 36km on the ground. It is marked as 3cm

on a map. What is the scale of the map?

Q12. Solve the following. (4 x1=4)
Governments of different states have fixed salary of a farm worker for a day’s

work. Look at the table and answer the following.

State Wages per day (Rs)

Rajasthan 175
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Orissa 150

Kerala 240
Karnataka 190
Bihar 100

a) How much more wage does a labourer earn per day in Karnataka as compared
to Rajasthan ?

b) Raju, a labourer of Kerala will earn rupees in a month.
¢) Varun, a worker in Bihar will earn rupees in 6 weeks.
d) state has fixed the highest amount and

state has fixed the lowest.

*kkkhkkhkkhkkhkhkkhkikkik
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ATOMIC ENERGY EDUCATION SOCIETY
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Subject: Mathematics Max.Marks: 80

SECTION-A KNOWLEDGE (20 Marks)

A.L. Fill in the blanks. (1 X6=16)

1) 1 metre = 1/1000 of a ( centimeter/ kilometer )
2) The unit of volume is : ( square unit/cubic unit)
3) All the faces of a are square in shape. ( square/rectangle)
4)Rs.3% = paise. (375/325)
5) We use marks to record data. (tick /tally)
6) The perimeter becomes times bigger if we double the side of
a square. ( two/four )

A.ll. Do as directed. (2X5 =10)

1) Draw a floor map of the given drawing of the house.

2) Find the area of the triangle in the figure given below.

(1sq cm grid)
/
/ Area:
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3) Match the shape below with a box into which it will fold.

XDWQ )

)
A

T

Y

(©) (i1) (iii) (iv)

4) If [ 7] shows 5 children then complete the table.

Vehicles Tally marks Number
Bike AL
Car AL LA [

5) A storage container is 60 cm long, 25 cm wide and 15 cm deep. What is its
volume in cubic cm ?
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A.lll. Do as directed.

(1x4 =4)

Read the table and answer the following questions.

City Temperature at 3:00 a.m.
Chennai 30.2°C
Delhi 27.8°C
Mumbai 29.5°C
Kolkata 31.5°C
Jaipur 30.2°C
Hyderabad 26.5°C

1) The difference in temperature between

Kolkata and Delhi is

I1) The temperatures of Chennai and Hyderabad are together

°C.

Iii) The lowest temperature was recorded

highest

temperature was recorded in

in while the

SECTION-B UNDERSTANDING (20 Marks)

B.1 . Tick the correct option: (1X6=6)
1) The volume of a 1 cm cube is

1) 1 cu.cm i) 3 cu.cm i) 8 cu.cm
2) Is the state which does not have the sea on any side.

1) Kerala i) MadhyaPradesh 1ii) Odisha

3) If Vikas is moving from Chennai to Bhopal he is moving

1) towards west i) towards east

232 -
4) —— can be written as
1000

1ii) towards north
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i) 23.20 i) 2.320 iii) 0.232

5) The perimeter of a square of side 2 cm is

1) 4 sq.cm i) 8 cm 111)8 sg.cm
6) A matchbox is an example of a
1) cube i) cuboid 1i) prism
B 11. Do as directed. (2X5

=10)

1) Look at the pie chart showing different sports liked by children of a school.

Tennis

cricket

foothall

(@) Which is the most popular sport

(b) Do more children enjoy Hockey or tennis?

2) Find the cost of fencing a Rectangular park of 120 m length and 80 m
breadth
at the rate of Rs.2 per metre .
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3) 672 pencils are to be packed in boxes. If one box has 28 pencils, how many
boxes are needed ?

4) If 8 five rupee coins can push up 10 ml of water then, how many coins can
push
up 25 ml water ?

5) Lable the directions in the given picture.

v

A

B I11. Do as directed. (1X4=4)
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Look at the floor map of a house and answer the following questions:
(Scale of the map: 1cm on map =1m on ground)

BATH ROOM
HALL
KITCHEN
a) How big is the hall m x m= sg. m
b) What is the length of the kitchen? m

¢) How many squares have been marked as garden?

d) What is to the south —east of the map?

SECTION-C ABILITY TO COMPUTE (20 Marks)

C.1. Write the correct answer for the following. (1X4=
4)

1) Write the following decimal as fraction:
2.05=
2) Ravi drinks 2 litres of water in a day. He drinks litres of water

in
a month.
3) If the display board is kept at the south side of the classroom, the notice

board is at the side of the classroom.
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Blackboard Mapa

i 3 1 Door
Window™.
- Denches |:I S
= N = = =
; I N N . .

Window - pom o o 2 =

B ) s [l s I s s s
I N S .
s i [ i —

 —

pieoq ad10N

Almirah

Display board

4) The length of the pen is cm.

|

C II. Do as directed. (2X6=12)

1) Meena purchased a book for Rs. 10.55 and a pen for Rs. 5. 05 Find the total
cost of both things.

2) A car runs 4 km in a litre of petrol. How much petrol will it require to run
80636 kms ?
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3) Colour 0.25 parts of the grid to make a design of your choice .

4)Find the volume of the cube ( in ml )that is dropped in the container,

40 -

35 1

30 A

25 A

20 A

R

Before

15 1

10 1

i

After

Volume of water

5) Sameena bought a battery. She read on it: ‘Life:1800 hours’. She uses it

day and the night. How many days will the battery run?
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6) How many cubes are needed to make this interesting model?

C.111. Solve the followinags.
(2+1+1=4)

In a class of 100 students data of fruits liked was collected as follows. Represent

this using chapatti chart / pie chart

Pine apple — 20
Orange — 15
Banana — 40
Apple - 25

1) Which is least favourite fruit?

i) The difference between the number of students that like oranges and bananas
IS
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SECTION-D PROBLEM SOLVING ABILITY (20 Marks)

D 1. Write the correct answer for the following. (1X4=4)

1)The volume of the given solid is

3 cm

6 cm

3 cm

2) The area of a square of side 12 cm will be
3) 8000 m X 0.1m =

4) hours are there in 3600 minutes .

D I1. Do as directed. (2X6 =12)

1) Distance on the map between Hyderabad to Chennai is 3 cm. What will be
the actual distance between these two cities? SCALE: 1CM =145 KM
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2) Soni’s uncle in Abu Dhabi had sent him 1000 Dirhams as a gift. She used
Rs. 6,850 to buy a bicycle. How much money was left with her?
(1 Dirham = Rs 22.63)

3) 954 people are watching a program in a school hall. If the hall has 47 rows,
how many people can sit in a row ? How many more extra chairs will be

needed ?
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4) Meghamala has % 100. How many pens can she buy if the cost of each pen is

% 15 ? How much money will be left with her?

5) A 2 rupee coin weighs 6 g. What is the weight of a sack with 1000 coins?

6) The floor of a rectangular room is to be covered with square tiles of side 10
cm. How many such tiles will be required if the length is 4 m and breadth is 2

m?
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D I11. Solve the followings.
(1+1+2=4)

Some students are going on trek. They pack their bags for 6 days.

(The list of food each person will need for one day)

Food Quantity for one person one day
Rice 100g

Flour 100g

Dal 1/3 the weight of rice and flour
Qil 50g

dried Tomatoes | 10g

Answer the questions given below.

) How much rice and flour each person will need for 6 days?

i)  How much dal each person will need for 6 days?

i)  How much fresh tomatoes should be dried for 6 days for 10 people?
(Note: One kg of tomatoes becomes 100g when the water inside dries up).

*khkkhkkkkkkhkkkhkkikkkkkkikkhkkhkkhkkkkkikkikikikk
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SECTION -A (KNOWLEDGE) - 20 MARKS
A 1.Choose the correct answer and fill in the blanks.  (6X1=6)

a) If 200 Km on the ground is shown by 1cm on the map, then 800 Km will be shown by
on the map.
(2cm 4cm 5cm 6cm)

b) The length of a rectangle is 4 cm and its perimeter is 12 cm. Its breadth is
cm.
(6 2 8 4 )

c) A special way of drawing the house which is deep to show the length, width
and height is called a .
( floor map deep drawing model painting )

d) The volume of a cube of edge 3 cm is

(9 cu.cm 27 cu.cm 12 cu.cm 6 cu.cm )
e) 99 centimetres = metres
( 0.99 0.9 0.09 0.90 )

f) If each side of a square becomes 2 times bigger, then its area will become

times bigger.
(two four eight six )




All. Do as directed. (5x2=10)

a) Reema plans to tile her kitchen floor with square tiles. Each side of the tile is
10 cm. Area of the kitchen is 9000 sg.cm. How many tiles will she need ?

b) Find the volume of a cuboid whose length is 5 cm, breadth is 4 cm and
height is 6 cm.

c) Divide and check your answer.
4529 divided by 4

d) Make your design. Use 4 colours. Each colour should cover 0.05 part of this



square.

e) A company sells 1 litre of packed water for Rs 15. A shopkeeper buys

250 litres of packed water. How much does he pay ?

A l11. Do as directed. (4)
Two squares A and B are given below. The side of square A is 3 cm.

The side of square B is double the side of square A.

3cm

3cm




Answer the following.

1) The perimeter of square A is cm.

I1) The area of square A is square cm.

1ii) The side of square B is cm.

IvV) The area of square B is square cm.
SECTION-B(UNDERSTANDING) -20MARKS

B I. Fill in the blanks. (6 x 1 =6)

a) Jammu and Kashmir is located to the of Delhi.

b) All the faces of a are square in shape.

C) grams make 1 kilogram.

d) 700 + 10 =

e) 1 centimetre =1 /100 of a

f) % of arupee = paise.

B I1. Do as directed. (5x2=10)

a) If 9 five- rupee coins are put in a measuring bottle ,they push up 10 mL of
water. Mollie has put some five- rupee coins in the bottle. How many coins has

she put in it, if 30 mL water is pushed up ?

b) The school at Malappuram has its sports day. The first five children in the

long jump are as follows.



Sheela - 3.50m Seema - 3.35m Reema - 4.50m

Rama - 3.05m Shiny - 4.05m
) Is the winner in the long jump.
i) She jumped cm.

¢) A gardener bought 468 mango trees. He wants to plant 15 trees in each row.

How many rows can be made ? How many trees would be left over ?

d) There are 35 laddoos in 1 kg.
i) How many laddoos will be there in 10 kg?

ii) If 25 laddoos can be packed in 1 box, how many boxes are needed to pack
all these laddoos ?

e) Add.
22.22 + 2.2 + 0.22 + 0.02 =




B I11.Do as directed. (4)

The information about the hobbies of some children are collected and shown
in the given below table. Look at the table carefully and answer the questions.

Hobbies Tally Marks Number
Playing L] | 16
Drawing AL 25
Reading Comics 24
Singing ri 17

Dancing 10

A

) Is the most popular hobby of children.

i) The number of children who like singing is (more / less ) than the
number of children who like playing.
Iii) The total number of children whose hobbies are reading comics and dancing is

Iv) Is the least popular hobby among children.

SECTION-C (ABILITY TO COMPUTE) -20 MARKS
(4x1=4)

C I. Choose the correct answer.

a.1f275x 19 = 5225, then 27.5x 1.9 =
( 52.25 0.5225 5.225

522.5 )

b. A wire of 20 cm is made in to a rectangle. If 6 cm is the length of the
rectangle, then the breadth will be
(6sq.cm 36 sq.cm 4cm

36cm )

c. Reema wants to stitch a 4 sq.cm decorative piece on one length side of her
sari. The length of sariis 5 m . The number of decorative pieces needed to be
stitched are .

(500 5 125 250)




d. 10 cubes of side 2 cm length are arranged in a straight line, then the line will be
cm long.

(40 20 400 80 )

C II. Do as directed. (6X2=12)

a. Multiply 165 by 45.

b. A square lawn has a perimeter of 320 m. How much is its area ?

c. Aboxis 15 cm long, 10 cm wide and 5 cm high. How many 1 cm cubes
can be arranged in it without leaving any gap ?

d. Match to the most likely weight.

A. Maths book I. 5000 kg
B. Sack of rice . 5¢

C. Strip of tablets 1. 500 g
D. Elephant iv. 50 kg

Answers: - A. B. C. D.




e. If Soha’s heart beats 72 times in one minute, how many times does it beat in

one hour ?

f. Draw a square of area 9 square cm. Write A on it.

C 11l. Solve (4)
Rajvi drinks 8 glasses of water every day.
I. How many glasses will she drink in a week?

1. How many glasses will she drink in one month? (1 month = 30 days )

Ii. How many glasses will she drink in one year ?

iv. If 100 people living in a colony drink 8 glasses of water in a day,
how much water will they drink in a week ?



SECTION —D (PROBLEM SOLVING ) - 20 MARKS

D I.Write True or False. (4x1=4)

a. 0.1 cm is read as zero one centimetre.

b. 9 marbles push up 90 ml of water in a glass cylinder . The volume
of one marble is 10 ml.

c. Abhi has to grow 45 cm more to reach 2 m height .Abhi’s height
is1lm 55cm.

d. The area of a rectangular photo frame of length 40 cm and breadth 20 cm
is 120 square cm.

D I1. Do as directed. (6x2=12)

a. Leena bought a battery . She read on it * Life: 1800 hours’ . She uses it
throughout the day and the night. How many days will the battery run ?

b.Sanya’s uncle bought a present for her from China. It costs 400 Yuan .
Find the cost of present in Indian Rupees. (1 Yuan=Rs 12)

c. Look at the table and answer the following questions.

State Wages per day ( Rs )
Maharashtra 600
West Bengal 80
Bihar 100
Kerala 250

i. How much more wage does a labourer earn in Maharashtra as compared to
West Bengal ?

ii. If Satish is a labourer of Kerala, then how much would he earn in a week ?




d. A bean plant measured 8.5 cm on Monday. It grew another 0.75 cm on
Tuesday. What was its height on Tuesday ?

e. Ravi has Rs 200.How many pens can he buy if the cost of each pen is Rs15 ?
How much money is left with him ?

f. Meghna went for shopping with Rs 500. Look at the bill given below. The shopkeeper
forgot to put the points correctly in the places. Put the points in the correct places and
find out the total amount of bill.

Item Quantity Price (in Rupees )
Soap 1 2350
Red gram 1 kg 7000
Tea 250 ¢ 5500
Cooking oil 1 litre 7600
Total
D I11. Do as directed. (4)

The temperature of some cities on a particular day are given in the table.
Look at the table and answer the following questions.

City Temperature at 3 am Temperature at 3 pm

Mumbai 19.0°C 324 °C

10



Chennai 21.1°C 35.6 °C

Kolkata 13.1°C 30.2°C
Srinagar 1.3°C 9.1°C
Jaipur 10.2°C 26.7 °C

I. How much lower is the temperature of Kolkata from that in Mumbai at 3pm?

ii. Which place has the highest temperature at 3 pm ?

ii. Which place has the lowest temperature at 3 am ?

Iv. What is the difference between the temperatures at 3 pm and 3 am in Jaipur ?

11
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